yeras = abs(1984 - int(input('BBeauTe roa->')))
all color = ['3eneHbin’', 'KpacHbii', 'XxenTbii', '6enbii', '4YepHblid' ]
all animal = ['kpbicbl', 'kopoBbl', 'Turpa', '3anua‘’, 'ApakoHa’,
‘amen’, 'nowagu’', 'oBuUbl', '06e3bAHbI', 'Kypuubl', 'cobaku', 'CBUHbMK']
yeras = yeras % 60
animal = yeras % 12
color = (yeras // 12) % 5
print('rog', all color[color], all animal[animal])

length mass = int(input('BBeguTe pasmepHOCTb MaccuBa -> '))
for i in range(©@,length_mass):
for j in range(@,length_mass):
if(j>=1i and j<=length_mass-i-1) or (j<=i and j>=length_mass-i-1):
print('1', =" ")
else:
print('e’, =" ")
print()

shifr = 'olleh dlrow’
for item in shifr.split(' '):
print(item[-1::-1], =" ")

arab = [1, 5,10,50,100,500,1000]
rim = ['I','V','X','L','C','D",'M"]
arab.reverse()
rim.reverse()
chislo = int(input('BBeguTe 4yucno <=3999 Ho 6onbuwe 0 -> "))
result = "'
if chislo > @ and chislo <=3999:
for i,arab_item in enumerate(arab):
result+= chislo//arab_item * rim[i]
chislo = chislo % arab_item
print(result)
else:
print('yncno He BXoAMT B 3aAfaHbll AManasaHo ')

S

N = int(input('BBegute 4yucno <=3999 ->'))
if N<=3999 and N>=0:
for i in range(@,N):
s+=str(i*2+1)
print('k-a uudpa ->',s[N])
else:
print('4yucno <@ unm =3999")




